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const int MAXN = 100
const int N = 26 ;

005 ;

struct Palindromic_ Tree
//cntO0count0000000DO0OO0OOOODODOOOO

int next[MAXNI [N
ogooono
int fail[MAXN! ;
int cnt[MAXN] ;
Ocount()0OOOOODO
int num[MAXN]| ;
int len/MAXN| ;/
int S[MAXN! ;//[]
int last ;/000
int n ;/00000
int p /00000

int newnode in
for int 1
cntipl =
num| p
lenip
return p ++

|
— o o

;//next000next0 000000000 0ODOOOOO0OODOODOOO

//faill 00000000 failOOOOOODO
/0000000000000 0000000000DOoOO0O00oOOn
googgo
/00000i0000000C000DOOo000ooooOooooDooo
/len[i]O0000i0 000000000 OCODOOOOOOOOO0O
gooooo

oo oooooog

gooog

ooood

t 1 /0000
=0 ;i<N; ++1 next(plli] = 0 ;

void init /000

p=0;
newnode 0
newnode -1
last = 0 ;
n=20;
S[n] =
fail/0] = 1

-1 ;/000000000000O00000DbO

.
’

int get fail int x /UKMPOODOOOOODODOOODOO

while Sin
return x ;

void add int ¢

- lenix] - 1] '=S[n x = faillx] ;

c -='a';
S[++ n] = ¢ ;
int cur = get fail ( last /000 0000000000000000
if 'next|cur]|c /000000000000 0000000000000O0O
ooono
int now = newnode lenicur! + 2 /0000
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googd
faillnow| = next[get fail faillcur c] ;/0ACODDOODOOO
OfailDOODOODOOOOO
next/ cur![c! = now ;
num/ now! = num|[faillnow| | + ;

last = next|[curl]|c
cnt/last] ++

’

’

void count
inti=p - ;1 o>= ;o-- 1 cnt|[failli += cnt|1i
/0000000 cntDO0O0O faillv]=u[jDOuOOOvOOOOODO

’

0O

P5496 0 0 OO OO OO (PAM)

0000000000 $s$0000000D0O00unoDn $s$00000000DOO00O0OODOO
goooad

0000000000 $last$ 0 $num[]$ 0000000
000000 oo 4

0o

#include<bits/stdc++.h>
using namespace std;
const int N=5e5+5;
struct Palindromic Tree
int nxt[N ,fail/N!,cnt[N|,num/N],len/N/,SIN]|,last,n,p;
int newnode(int 1
memset (nxt(p!,0,sizeof(nxt(p ;
cntipl=num/pl/=0;
lenipl=1;
p++;

void init
p=U;
newnode ;
newnode(-1);
last=0;
n=u;
Sinl=-1;
fail =1;

int get fail(int x
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Sin-len[x1-11!=S[n x=fail[x];
X,

void add(int c

c-='a';

S[++n]|=C;

int cur=get fail(last);
Inxticurl|c
int now=newnode(len|curl+2);
faillnow|=nxt[get fail(faill cur cl;
nxt/ cur!|cl=now;
num/now ! =num| fail now| |+1;

last=nxt|[curlcl;
cnt|last]|++;

void count
int i=p-1;i>=0;i--) cnt[failli]|+=cnt[i];
P;
char s[N];
int main

scanf("%s",s);

int len=strlen(s);

P.init();

P.add(s ;

int k=P.num|[P.last];

printf("sd",k);
int i=1;i<len;i++
P.add((s[1i]-97+k)%26+ c
k=P.num[P.last];
printf(" %d",k);

P3649 [APIO2014]0 0 O

0000000000000 0000000 $s$00000 $s$000000000000000 $s$%
0000000000000 000D00000D0000 $s$f0oooooooooooood

000000000 $len[]$ 0 $ent[]$ 000
oobooooonozj

0o

#include<bits/stdc++.h>
using namespace std;
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const int N=3eb5+5;
struct Palindromic Tree
int nxt[N ,fail/N!,cnt[N|,num/N],len/N/,SIN]|,last,n,p;
int newnode(int 1
memset (nxt(p|,0,sizeof(nxt(p
cntip!=num(p|=0;
lenipl=1;
p++;

’

void init
p=u;
newnode ;
newnode(-1);
last=0;
n=0;
Sinl=-1;
fail =17
int get fail(int x
Sin-len[x]-11!'=S[n x=faillx];
X;

void add(int c

c-='a';

S[++nl=c;

int cur=get fail(last);
Inxt|cur]||c
int now=newnode(len|cur|/+2);
fail[now|=nxt[get fail(faill cur cl;

nxt/ cur!|cl!=now;
num|/now ! =num/ fail[now] |+1;

’

last=nxt|[curlcl;
cnt|last]++;

void count
int i=p-1;i>=0;i--) cnt|[failli] +=cnt[i];
P;
char s[N];
int main
P.init();

scanf("%s",s);
int len=strlen(s);
int i=0;i<len;i++) P.add(s[i
P.count();
long long maxx=0;
int i=0;i<P.p;i++
maxx=max (maxx,111*P.len[i/*P.cnt|1i

’

1

printf("slld",maxx);
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Ple59 [0 0 DO OO ODO

0000000000000 00000000D0000000000000O000DO0O000 $K$00
gogoooogao

O0000000 $ent[]$ 0 $len[j$ 00 00COO

ooq

#include<bits/stdc++.h>

using namespace std;

const int N=1le6+5,mod=

typedef long long 11;

1l fastpow(int x,int y

1l ret=1;
1y y=>>=1,x=111*x*x%mod

y& ret=111*ret*x%smod;
ret;

struct Palindromic Tree
int nxt[N ,fail/N!,cnt[N|,len/N]|,S[N]|,last,n,p;
int newnode(int 1
memset (nxt/p!,0,sizeof(nxt(p
cntipl=0;
lenipl=1;
p++;

’

void init
p=U;
newnode ;
newnode(-1);
last=0;

int get fail(int x
Sin-len[x]-1]1!'=S[n x=fail|x
X,

.
’

void add(int c
c-='a';
S[++n]|=C;
int cur=get fail(last);
Inxticurl|c
int now=newnode(len|/cur!+

?

https://wiki.cvbbacm.com/ Printed on 2025/09/16 08:40


https://www.luogu.com.cn/problem/P1659
https://www.luogu.com.cn/problem/P1659

2025/09/16 08:40 7/8 0ooo

faillnow|=nxt/get fail(faillcur cl;
nxt/ cur!|cl=now;

last=nxt|curl|c]l;
cnt|last|++;

void count
int i=p-1;i>=0;i--) cnt[failli]|+=cnt[i];

P;

char s[N];
bool cmp(const pair<int,int>&a,const pair<int,int>&b
a.first>b.first;

int main
P.init();
1l n,k;
scanf("%slld %l1d",&n,&K) ;
scanf("%s",s);
int len=strlen(s);
int i=0;i<len;i++) P.add(s[i]);
P.count();
11 K=0;
vector<pair<int,int>>v;
int i=0;i<P.p;i++
P.len[1i]>0&&(P.len[i]&
K+=P.cnt[i],v.push back(make pair(P.len[i],P.cnt[i ;
K<k
printf("-1"); ;

sort(v.begin(),v.end(),cmp);
11 ans=1;
int i=0;i<v.size();i++
k<= ;
k>=v|[i].second
ans=(ans*1l1*fastpow(v/i|.first,v[i].second))%mod;
k-=v[i].second;

ans=(ans*1ll*fastpow(v/i|.first,k) ) %mod;

.
’

printf("slld",ans);

’

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:lgwza:
2020/10/03 oog

20:02

oo

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:Igwza: %E5%9B%9E%E6%96%87 %E6%A0%91&rev=1601726540

OlWikiooOo
ogooood
From:

https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link:
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:lgwza:%E5%9B%9E%E6%96%87%E6%A0%91&rev=1601726540

Last update: 2020/10/03 20:02

https://wiki.cvbbacm.com/ Printed on 2025/09/16 08:40


https://oi-wiki.org/string/pam/
https://oi-wiki.org/string/pam/
https://www.cnblogs.com/DWVictor/p/11324247.html
https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:lgwza:%E5%9B%9E%E6%96%87%E6%A0%91&rev=1601726540

	回文树
	结构
	功能
	模板
	例题
	参考链接


